51V

Based on ENSDF from Oct 2022, and

BE
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(11/2-)
(9/2,11/2,13/2)
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(9/2-,11/2,13/2
(9/2,11/2,13/2)
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(11/2,13/2)-
(9/2-)

(11/2-,13/2-)
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(11/2-,13/2-)
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51V 221 | | | 7.540 221

51V 222 | | |  7.590 222

51V 223 | | | 7.633 223

51V 224 | | | 7.682 224

51V 225 | | | 7.710 225

51V 226 | I | 7.940 226

S-p = 8.060 ( 0.000)--- -—- -—- e
51V 227 | | | 8.061 227

51V 228 | | |  8.171 228

51V 229 | | | 8.211 (25/2-) 229

51V 230 | I | 8.305 230

51V 231 | | | 8.501 231

51V 232 | | 9.400 3/2-| 232 7 EV 2
51V 233 | | 9.405 3/2-1 233 47 EV 6
51V 234 | | 9.411 3/2-| 234 9 EV 2
S-p = 8.060 ( 0.000)--- -—- -—- e
S-n = 11.051 ( 0.000)------ -—- -—- e st L
S-2p = 20.219 ( 0.002) —————mmm oo
S-2n = 20.384 ( 0.001)--- -—- -—- -— e et L
S-alpha= 10.291 ( 0.002)------ -—- -—- e it
S+p = -10.505 ( 0.000)

S+n = -7.311 ( 0.000)

S+2p = -17.065 ( 0.000)

S+2n = -15.791 ( 0.003)

S+alpha = -7.934 ( 0.000)

gap p = -2.445 ( 0.000)

gap n = 3.740 ( 0.000)

gap 2p = 3.153 ( 0.002)

gap 2n = 4.592 ( 0.003)

gap alpha = 2.357 ( 0.002)



